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B.A./B.Sc./B.Com. (Part-I) Examination, 2022

COMPUTER APPLICATION

Paper - 1II

(Database Management System)

Time : 3 Hours | [ Maximum Marks : 65
Section—-A (Marks : 172 x 10 = 15)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

M —

Note —

M —

Note —

M —

1% marks.

(Tus-3) (3® : 1, x 10 = 15)
i T YvAl ® S SIS (SW-E 50 ) | T 99 1% 30 ol T
Section-B (Marks : 4 x 5 = 20)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 4 marks.

(TUs-) (3% : 4 x 5 = 20)
Tl Ofer el % S SISl TS 9§ foehed @1 e #ifey (Sw-dmE
200 71%) | T&F T 4 3F H T

Section—C (Marks : 10 x 3 = 30)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 10 marks.

(@us—a) (3% : 10 x 3 = 30)

o | 9§ fegl 9 ge & St SifST (SW-Hm 500 Is) | Yosh 99 10 37
Ealkd
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Section-A
(TUs-3)
. (@ What is Schema ?
THITT T 7 ?
(ii)) What is Data ?
TR F Y ?

(ii1) What is Foreign Key ?

TRA HT FM Y ?
(iv) What is Entity ?
ufedt # % 2
(v)  What is Indexing ?
TR o 2

(vi)  What is Operator in MS-Access ?
TH.UH.-TRE | SR 1 § 7
(vii) Write a SQL query for using Union.
I & ITERT 3G THALTE. FR fafeu
(viil) What is DML ?
S THTA. Y ?
(ix) What is Deadlock ?
Tealh F T 7
(x)  What is Serializability ?
Hifaessfafeaet #=n & ?
Section-B
(TUs-9)

2. Explain the purpose of Database System.

TREY foey & 3T I GHIETI
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Or

(3=
Explain the Data Abstraction.
ST TS hl FHHET |
Explain Functional Dependency.
HHRE feiSH w1 TR
Or
(g

Explain different types of attributes in ER model.

3.9 Aled & fafd THR & Ty i SHest |
Write the steps to create table in MS-Access.
TA.UE-TFE H o9d 9 % =i @l fafen
Or
(3=
Explain different types of functions in MS-Access.
THIE.-TE § fofi= 9oR & wRre &1 99|
Explain any four data types of SQL.
TIFL.UA. & gl TR TEI 2R F TR
Or
(3=

What is Nested Query 7 Give an example.
TRE O FM Y ? TH S0 S|
What is Transaction 7 Explain with example.
TR F1 ¥ 7SIl Gfed THET |
Or
(Irgam)
Why a serializable schedule is considered correct ?

T Hifoeesea firega ® wd = q S ¥ 2
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Section—-C
(@us-|)
7.  Explain the difference between network, hierarchical and relational model.

oo, femfowa 3 Rorme dfled & o9 & <R & 9Awmsl |

8. Explain the features of ER model.

3.3R. Aiedd & HiEd T TESEY|

9. Explain the join property and various join options available in MS-Access.

TH.UH.-TE § SYsd Sz Wi9el Ud fafy= Sifzd Afeg=a & 99eEe|

10. Explain the difference between Truncate and Delete command in SQL.
TIF.UA. | The TF feclic FHUE & TR HI THAET

11. What is Concurrency Control ? What are the different techniques to control

concurrency ?

HIFI HIA TN E 7 R hA B hI ORI deheihl h FHEET
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